C,Urnun.A‘n'ue Ae PracTice T&sT 9

/F(,sg Kfspo,\rsas
l H()""‘“ l oA SamPlC + ~tes® Ko, Hhe diflerence mecns [jc,—-j&z)

% £ +test Snce e popolchon & s unknown
* Use (2,05

/(L, = +he true. means ditlerence [n elechice Pa"-en"\‘g‘ —diabede mMice
!

e t

= { . |
M= Y B = Normel mic e
H’o’- ,1,{] =/(/(-z [ Ccmh;‘rfwu.s
! HAI Lh:k ,bw_ Random — c{-fa be,h‘c. +normel mréa
N
o(\‘@‘\k . _ e p"‘éd‘ﬂdsé selecte |
/T“‘ﬁgo\‘*”? USED |2~ SamTTEST |
osui w Dickehe Mice: pN=2% ’ I“é"fe'\l‘ﬂ"' "@"H\c ) Populc'h'dvxs o+
)‘(l-. 13.09 Sx‘=l.i.%3q Mice ave fadependent
Nd‘fMGl ml‘cc_j N=1S @ S"Me “ha 'LU/O Y‘e,plc cement
; X.= - recsdnchle Hrore are mare
?w\&} XZ_ '0407—2 SKZ Z.q \S %an ‘0(41.') 32“’0 d"a ‘)ehimi‘(e
hw'*-ﬁ and 4o (I%) = 150 normel mce
C g et [ Mo |
/:LT\ /P rmel] - We we-e 4o Id Hrct am‘oas
f = 04 both FQIPS Ocue led MNp oo+ 1vers
~2-ss é 2.5% L O& STeuNJ G gkE NESS
A § (sechnolog) = 3%,4L Puclve = P(2 € —2Ss) o2
+ =dSS PEZ 2.55) = .015

Conclode : Dince “the ?Uo‘tc (-OLQ 1S Je ss “Fhan o 2,05

We FQAe ct Ho s W& /)we ConvincCing €u.dence

"";\er‘e. s a JdiHeenee 1n Mmecan ~electrice]
?o-&en-&—\‘a\ betueen Hheir Fféh—i hip and Jrost
Seex




‘ AP4uy _|_ SAS: 939 whitt womea (ST in 4 sTATES -
J _.P_"azk_igql% i+ as Yeens ~ §.59 Cognitive impased
& [
S NoT Fi+ it _l ('_'7¢D 2 C_O.a_m'ﬁw_: Lm{é_q (~ed
Pir= teve pasportion Lognitive impaired = Physicdls i__‘E:,.'_'

Ps= Hrvepropartion Qﬂan;_h'@wg:r,ed ‘.n.o:h.,::.by:icalg_-ﬂi-_. —

HQ‘- _’P.L-e_ _2._ = . ——
__..H.ﬂ_;_ _'-P_l. =F P’z_ ______ e,

_l F Con0indns MET = TEsT: ol ~Samp le Ztest P
_dhe di Herence o ngicﬁﬁ-_

| S e —— (P;:Pa)_
@_ _MF diflecence. SigniSicately Aifleent
The resy ) ts can not be geacwrcdlized 4o ol women ST

. O only white women Gwere jncluded .
) @ Semple Wes Limited Ho ‘!5"'@4&3
@ DEFITToN: Two vertebles are conLygnded when their
e ffects on Hhe ﬁe:g{amse_vq_ctg_b_'_%_[mmaorc._m;é —
CO_a,n_ i Hue, _Aﬂqlffm) Ceaennat bcdl—‘b“‘“ha___u‘&hd From
= Ono., AQnovHrsn . : . ——
| Answees may Very: =
— K Teeas dhet were Phy S‘Qll_&_ $+ as
__teeas May
R — have also been bele shdests and
—  Mmentelly Stimulcled
- — have hed 9 betier diets, B
S Tk { — ——
- * Hence \Vue mey not BE Aplg To DETeemwE TF

"'Pﬂﬁs‘tm FITORTHIS OTHeL |JARABLE Jufivercd COGUiTive DBLLINE




K—\Tﬂg #'.5
31% in Fawse of " FAT TAx” —> 4Y8% o 7v

bb% GPPosep Twe “FAT TRx' — _‘lf?g___;u‘::n

= 4o Hick
- B _ogesity
Bias was /mfredoced 691 a.s,sacrc%“rg =
Health Care ‘P\MJM& w it obesTY
The ex¥u jnfo-mebin abost dbe‘&"i“j 'n#vmes(bn«s)

__f'ﬁ-_spm_b'\' —+o dl'\cngj_ minds and “dovo~ tha,
ot +ax"

AN unN Rias60 Queston —Jocuses solely on Fhe
_ Questiogn o+ Tndesest ™ Do you Sopport o oppose
o tax on nopn-diet S_agrc_d Sodq?.? .

()| The semple was v NY atyvarias Fest-fed

| PE.S““U r‘cn's Ohogs:/) _H'K.Se. IOCC 'hdﬂ.S Pf"OWAQ Q
Lm& be.c cusa gL ple Haed ao +o ‘Fnjd -Food =
P65+curon+5 Pra be b ,(‘j ?m fe. 503 ana _oo’as .

An vnl bicsed semple oo )d be a r_c__naa_@ Semplc
of a\l residents ™ A Y stete |

You would went Jo poll el sihles, Snce Hhe
Pa q\a-\-\an o4 each Stete is di le/en-t e Wy
Use o STRATFied Raddom Samers”-

To ds Hus medod we wovld need do  Know
FHe .’fc d\v\vdns o each shie,
¥ ~then deder mine Fhe'i- ?fofor‘hans
* &PP\A “repe P-fo fropor‘\‘wn.\.. "]‘DJOW.SamPkSiZe
3 Once V Ow c]e,-k/mme ‘He Stemp le Vs) Zes oo
each Shie, take a 5128,04 Jhet Stde




}ﬁ_P 4.49 _[

3 Facorty Mem bers
Do Gpcive Firnt

K;UGN Facorry Membes
% STeon G (offFec

W= MeWorcester = 104 € .30 o ——

Q= Meloctier = DB &—— L0 === &

L= Ihelegacy * 40Py ¢—— Q0 | .
J06%% P e = i

P (STeone CofFe ﬁ) = ,03+,05 2,08

- =]'_/£_] é"" S = ()03 3,03
_E_.na.zsr me“rueo N; = ‘(‘)sf)??;; o3
/ = (150 s °5
- /91’07‘_;2? ) ﬂun IDERT]
,;/‘ S« ) (D=-08
Vead\ %Dw NS < () () @ =32
- oN<® Wsw‘b ],oq

Know Teee v
TABLE S —THIS

MJICA
ekuez

“PMAKES PRoBAGILITY /

i §T&oor-___ JOT ‘
_ MAW Lo(3)e.65| .07 |
_ MRL|SEOEE) us
1 .'ﬂ(‘a\)zlot‘.‘ 13?-
de) »8Y )
e S
€asy
oy
S




Revim o the lecst Sovane Reseessive Ling

(LsRL)

IYEEE ‘ ResPanse VARiapLeg (Y) = SEED WEIGHT ('”3\

* We want to predict Y g — alweys put het
° A ché{ckdy

EXPLAM*TU&Y Variante Cx) — Seep ClownT
% Wedhink X may help explaca oa \NFLOENCE
Changes I'n +he respanise Uaricble we
are “predichng .
: d
CorrelaYion Preasares “he. stenag 4+ o+ —the linec~
QBSOQEQ‘RQA bc-h,JQQn ;? @U&iﬁ"ﬂﬁ\Tf\/ﬁ (NUmE&fc)
\/CL(‘:c.\o‘CS )
s rZ (Coe Ficieat o+ dedermine Hon) which meecspes Yhe
T Streaqts 03 dhe Jineer prodel. The $raction o F +hae
UeriaFion O.ccOunt Fae b:y e LSRL mede |

7’16 SCc-Herplo'l’ 15 NoT LINE#R AnND SHews A
STeonG Cvevep FalmeanN. ThHeeeFore A LINEAL
MoDEL WillL NoT RBE /iPrecreiaTE /w THIS CaAse

A New models are prposed = Look Fop R Criteres
+o determane  which  madel s  beHe-
() Sc_c\-\ef‘?la‘t Shes G pple r [onea .
@ PCS;JUc\ })]c‘l" Shou )d //)qve NO ’Pc#ern and
heve sceHe ed res.doc\s

,Tnd THS Exn—mﬂ.e‘ Muoec 75 o id ‘oe beH-e,,- +o
Pre,&t'?—"\“ Seed lyeight Tem 3Seed Count.

@ The Sceberplot  between ln Cueght) end Jn(eed conr)
s a moéerckL% s trun ,ﬂd G'J';Ueil;,\w assocveon .

@ The resia¥.\ ?\o‘l‘ has residuels de\ple-kl\/
Scelered wivh  ho ‘P!‘H'(fn‘



AP 4us (@ Use Model 8 4o predict Seed m.&m r4 He
ConT Seced CoonT > 3,790 .
To Answee THis QLestiud WRITE LSRL mode] and

clem% shau ““i’:}"-
/\
IS, 4a] —1.5222 « In (Seed Courvr)

Mode\ % In (we‘sam-\ =

X= 3700~ @ = 1549 —~ 1.5 222« |n (3,700)
@ = ]s.Mq| - |s222 - %2k

= |$.49| ~ 13,507

17\71:;\;‘6\.40 = 2.9%4

€ el

— oy 2.9 8Y
Toundo ‘06- b\let’a\‘r = = = %
Use Dase Mo

@ 2= 9.3 (Neuw Use adjusded f'z)
(?nc:mkx.i) Abot §6,3% o+ the Uerichility n He
dicked o (Seed weight) 5 accomted Fu- by the

LS AL U’:;?"ma In (seed CU\M'*\ .




diem C'i-tt_“ (corr_c.o-iB ——=> N(‘I;u,_.oaw\
M ey

Hwtg theck. SRS n=25 )

W hea descri bing & Se m.ﬂl_cna dis b by tiony ALILAYS
é.fue.._ : Cender, s P.feul cnd__s_hgpe..-

Conker = Mg =_JA=@

P(X €399 0oX %ol = =457 =(E124))

Decea G eaen l

c" \e. &Mm‘né
normele dd (399 401, 4 }.Ooh

/
L (V)

VE You shew e\ Comm ¢en d
Mee Svee R e L,o\ Porom&\cr\



P % < 4,60) = (-4938 _ __ N
Bcfsz ’ (400 <X < 4.01) = CH938) e L@l

- .0 Y.01
— 3§/ @ — - Tea—
_O,N\o.oor\\ DEFINE RV X=the numbero 3 Scmples (ooTofs)
: D\_o_\;\’ _ = where. Ve, meen is 400-40l,
(A — .
[ B sNomiar Mo de ’ = B %%(X—:—
M Binuey Yes - ARG
5?6“\62&_ 7 .\s Jnde@mdm‘\' Yes ,g' :g;:
O o -~ i

b"lb_o :.\9\5 jz = == S'UCﬁ-ﬂ” ?roh_bfl;-{nf _P_.'é... ‘}_0_387 = = .J_J_,..o.aq.;] 2 / _7_?_ .

I O
fl"'\.l'

20 PN T T ek b

Plx=4 f_PC:Gs) - px >4) = }

¢ /SO + 1021 | — R(&é‘*_}_:__
BENIOPE:

B 1_— [ 330’ .
11798 2




_ m@.\c-b’*

'?\NA\.

Q

al -
o M
Sy |2
S

|USE The L% =95 -99.7 Role. :

_ OPTUN Q! (-an-. ‘h

OPTion A Gives  moré

Smelles "Pm_bc.b: S

/"

P(R¢ 300 0eXF4.004)

= (33) *5¢oDg,

RoLet P (72 399 oe X 24 2(0D) & 25

orton 4 (Senb) PR 4399 o X %) =01

P(X24) =0796

Gonvinci

cb"’

\pobv- :P(Sconsem-hue_ Semple mecns
Ve tieen 4.00 — Yor) =

P(Q Gonsecosive semplc meens
between 4.005 - Hat)

._ — @ A?\b_u.l_% \/c.«na___ S .

Mz = 4

(4938)°=

P (4005 %< 'hab

—(-099)"= (7

evidence thet dhe
Mmeuchne needs % shot dowa Since i+ has a

6_§ ;_._091

Kdla O?Conscc,u-hoe Semple
meécns thet -FG‘l ov -+ ZSD.S
from Frve mean (i =

1)

P(543992 02 X% =i.go_s)_=-(.aaoz_

= ¢ooa’

—ﬂ-ns rule Seems like

et

1+ wow Jd be oo Casy do m+
Cotch a prodlen. Chmg..&o 3150

WOPeY ;)"'Qv

6:.
(o> o }q,'b 4
Jrgpee &

\&5



